PARTS LIST

MR-4TC BD

PART NO. DESCRIPTION

TOURING CARKIT

MRTC-BD1 MR-4TC BD Chassis Kit
CHASSIS

SD-001 Front Bumper

SD-001W Front Wide Bumper

SD-001FS Front Urethane Bumper

SD-001R Rear Bumper

BD-002G BLACK Graphite Main Chassis
BD-O03UG  BLACK Graphite Upper Deck
BD-003M Upper Deck Mount

BD-118G Graphite Battery Plate & Mount Set
BD-118M Aluminum Battery Post

BD-118T Battery Tray

BD-017G BLACK Graphite Front Shock Tower
BD-018G BLACK Graphite Rear Shock Tower
ZS-016 Body Mount Set

Z8-ABM5 Adjustable Body Mount

ZR-BMP5 Body Mount Pad

RC-313S Body Clip (S)

ZR-200A Black Antenna Set

ZR-200C Antenna Cap

ZC-BH38 Button Head Screw M3 X 8mm
ZC-F38 Flat Head Screw M3 X 8mm
ZC-F315 Flat Head Screw M3 X 15mm

STEERING LINKAGE

BD-202 Steering bell crank
BD-202G Graphite Steering Bell Crank Plate
BD-202P Aluminum Steering Bell Crank Post
BB-84-2 Bell Crank Bearing
BB-84-4 Bell Crank Bearing
BB-840P Bell Crank Super Precision Bearing
BB-63F-2 Bell Crank Plate Bearing
ZC-S358 3 ¢ X5 @¢x0.5Shim
ZC-206 Steel Ball Stud
ZC-206T Titanium Ball Stud
ZC-206HS Hard-Coated Aluminum Ball Stud
ZC-206M Ball Stud (8mm Screw)
ZC-206C 3 ¢ Aluminum Collar
ZC-207 Plastic Ball Cup
SD-204 Servo Horn Set
Servo Mount, Ant-Roll Bar Mount &

SD-203 Antenna Mount Set
BD-203 Aluminum Servo Mount
ZC-TB27 Titanium Turnbuckle 27mm
ZC-TB36 Titanium Turnbuckle 36mm
ZC-BH38 Button Head Screw M3 X 8mm
ZC-F38 Flat Head Screw M3 X 8mm
SUSPENSION
BD-007T Upper Camber Link Set
SD-401HC  Ball Stud (Short Thread)
ZC-206 Steel Ball Stud
ZC-206T Titanium Ball Stud
ZC-206HS Hard-Coated Aluminum Ball Stud
ZC-207 Plastic Ball Cup
ZC-TB36 Titanium Turnbuckle 36mm
SD-008H Lower Suspension Arm
SD-008HG  H.D. Graphite Lower Suspension Arm
SD-009 Hardened Suspension Arm Hinge Pin Set

~ Suspension Arm Hinge Pin
ZM-410 Retaining Screw (M2.6 X 4mm)
Z7C-BH2e5T  Suspension Arm Hinge Pin

Titanium Tapping Screw (M2.6 X 5mm)

QTYy

2
8
12

2

10
10

4
4

o n

nn

o

nohM~NDO D

FR1
FR1

5

PRICE

$420.00

$7.00
$11.50
$5.00
$3.00
$TBA
$TBA
$TBA

$TBA
$TBA
$TBA

$TBA
$TBA

$3.75
$11.75
$6.00
$1.25

$1.75
$1.50

$2.00
$2.00
$2.00

$TBA
$TBA
$TBA
$7.00
$12.75
$8.50
$TBA
$TBA

$2.50
$14.25
$12.50
$TBA
$TBA
$1.25

$2.50
$4.75
$TBA

$14.75
$14.75

$2.00
$2.00

$TBA
$3.00
$2.50
$14.25
$12.50
$1.25
$14.75

$TBA
$10.50
$5.00

$0.75

$3.25

00 O0Xx*x0 00 o000 o00000x o

o0 x00000 [ X 2K J

o0 0o

o0 x*x 0000 o0

*x @ 0x e

SD-300FFO
BD-300MFR
SD-300FR
BD-300MRF
BD-300S
SD-300RR2
SD-300R25
SD-300RR3
SD-300B
Z5-414B
ZC-8834
ZC-8848
SD-4134H
SD-414
SD-414TA

SD-415

SD-41568
SD-415R05
SD-415R10

SD-4134G
SD-415G

SD-4158G
SD-415G05
SD-415G10
BB-106-2
BB-106-4
BB-1060P
BB-106C2

ZC-BH322
ZC-N3AB

Aluminum Front Susp. Mount (Front) O° Kick-Up
Aluminum Front Susp. Mount (Rear) Split Type
Aluminum Front Susp. Mount (Rear)

Aluminum Rear Susp. Mount (Front) Split Type

Split Type Suspension Mount Spacer 4
Aluminum Rear Susp. Mount (Rear) 2" Toe-In

Aluminum Rear Susp. Mount (Rear) 2.5° Toe-In
Aluminum Rear Susp. Mount (Rear) 3" Toe-In

Aluminum Susp. Mount Hinge Pin Ball 4
King Pin Ball Stud 2
Set Screw M3 X 4mm 10
Set Screw M4 X 8mm (Rounded End) 10
Front Hub Carrier (4° Caster)

King Pin Set 4
Lightweight King Pin Set 2

Steering Block (1mm Trailing) &
Rear Hub Carrier (0" Toe-In)

Steering Block (Omm Trailing)
Rear Hub Carrier (0.5° Toe-In)
Rear Hub Carrier (1.0° Toe-In)

Graphite Front Hub Carrier (4° Caster)

Graphite Steering Block (1mm Trailing)
& Rear Hub Carrier (O° Toe-In)

Graphite Steering Block (Omm Trailing)
Graphite Rear Hub Carrier (Toe-In 0.5%)
Graphite Rear Hub Carrier (Toe-In 1.0%)

Bearing (¢ 10 X ¢ 6) 2
Bearing (¢ 10 X ¢ 6) 4
Super Precision Bearing (¢ 10 X ¢ 6) 2
Ceramic Bearing (¢ 10 X ¢ 6) 2
Button Head Screw M3 X 10mm 8
Aluminum (Blue) Nylon Locknut (3mm) 4

ANTI-ROLL BAR

RS-25
ZC-206A
z8-412

ZS-412FSP

ZC-206LL
ZC-207A
ZC-SS33
ZC-SS34
ZC-Ss312

RAYSPEED Long Anti-Roll Bar
Aluminum Anti-Roll Bar Ball
Anti-Roll Bar Wire Set (Upper Type)

Front Anti-Roll Bar Set
Upper Mount Type (¢ 1.0 1.2+ 1.4)

Long Steel Ball Stud for ZS-412FSP
Anti-Roll Bar Plastic Part

Set Screw M3 X 3mm 10
Set Screw M3 X 4mm 10
Set Screw M3 X 12mm 10

DRIVESHAFT (LOW FRICTION)

SD-010FS Front L.F. Universal Driveshaft 2
ZS-010RS Rear L.F. Universal Set 2
ZS-010FTA  Front L.F. Universal Axle

ZS-010RTA  Rear L.F. Universal Axle

ZS-010RSB  Front & Rear L.F. Universal Bone (Steel)

ZS-010RTB  Front & Rear L.F. Universal Bone (Aluminum)
ZS-010TP L.F. Universal Coupler & Pin

WHEEL HUB

ZS-011EL EZ Wheel Hub (Lightweight) 2
ZR-0118M  EZ Wheel Hub Maintenance Kit

Zs-011C Clamp Type Wheel Hub 2
ZS-011CM Clamp Type Wheel Hub Maintenance Kit

ZC-N4AFB Aluminum (Blue) Flanged Lock Nut (4mm) 4
DRIVETRAIN

BD-300FL Aluminum Front Bulkhead (Left)

BD-300FR Aluminum Front Bulkhead (Right)

BD-300RL Aluminum Rear Bulkhead (Left)

BD-300RR Aluminum Rear Bulkhead (Right)

BD-300RB Rear Bulkhead Brace

BD-300CA Aluminum Bulkhead Cap (A)

BD-300CB Aluminum Bulkhead Cap (B)

BD-300MC Aluminum Main Bearing Cap

BD-BAC Belt Tension Cam

BD-644 Center Shaft

BB-84-2 Center Shaft Bearing

BB-840P Center Shaft Super Precision Bearing

BD-671 Main Gear Adapter

BD-674 Front Drive Pulley

BD-516L Front Drive Belt (Low Friction)

$19.50
$TBA
$19.50
$TBA
$TBA
$19.50
$19.50
$19.50
$3.25
$TBA
$1.25
$1.50
$6.00
$3.00
$6.00

$5.00

$5.00
$5.00
$5.00

$8.50
$8.50

$8.50
$8.50
$8.50
$6.75
$13.50
$11.50
$21.00

$2.00
$3.00

$9.00
$3.75
$TBA

$24.00

$1.75
$1.00
$1.25
$1.25
$1.50

$22.00
$22.00
$6.75
$6.75
$5.25
$14.00
$3.00

$9.00
$1.50
$10.00
$1.50
$4.25

$TBA
$TBA
$TBA
$TBA
$TBA
$TBA
$TBA
$TBA
$TBA
$TBA
$7.00
$12.75
$TBA
$TBA
$TBA

ot @ % 00000 0xtoeoexee

* @ @ttt %

00000 x 000

o+ 00000

OX* 00

0000000000000

BD-189L Rear Drive Belt (Low Friction)
BD-FBT Front Belt Tensioner

SPUR GEAR

SG-4878 Precision Spur Gear 48 Pitch 78T

PINION GEAR

PG-4824

FRONT ONE-WAY

BD-640T HD Front One-Way Assembly
SD-640TM HD Front One-Way Maintenance Kit
BD-641T HD Front One-Way Housing

Z8-642T HD Front One-Way Drive Cup

BD-643 Front One-Way 40T Pulley

BB-1510 Bearing (¢ 15 X ¢ 10)

BB-1510P Super Precision Bearing (¢ 15 X ¢ 10)

BB-1510C2 Ceramic Bearing (¢ 15 X 10)

BALL DIFFERENTIAL

SD-501 Diff Outdrive & Drive Cup

SD-501R Aluminum Diff Outdrive Ring
BD-503 40T Diff Pulley

BB-85-4 Bearing (¢ 8 X ¢ 5)

BB-850P Super Precision Bearing (¢ 8 X ¢ 5)
BB-850C2 Ceramic Bearing (¢ 8 X ¢ 5)
ZD-505 Diff Ball 3/32"

ZD-505T Tungsten Carbide Diff Ball 3/32"
ZD-505C Ceramic Diff Ball 3/32"

ZS8-506 Diff Ring

Z8-507 Diff Thrust Bearing Set

ZC-507T Tungsten Carbide Thrust Ball 1/16"
ZS-508 Diff Adjusting Screw Kit

BB-1510 Bearing (¢ 15 X ¢ 10)

BB-1510P Super Precision Bearing (¢ 15 X ¢ 10)

BB-1510C2 Ceramic Bearing (¢ 15 X 10)

Stainless Steel Spacer Shim ¢ 10.0mm

ZC81008  “505-0.10 - 0.20mm)

SHOCK ABSORBER

YS-188S-6  L.F. Pro Shock Set (SSS)

YS-1SS-6 L.F. Pro Shock Set (SS)

YS-45SS-6  L.F. Pro Shock Body (SSS) & Cap
YS-48S-6 L.F. Pro Shock Body (SS)& Cap
YS-7A L.F. Pro Shock Adjusting Nut O-Ring
YS-8D Bladder Shock Cap Set

YS-8DMH Silicone Bladder (Hard Type)
YS-5S8SS-1  Shock Shaft (SSS)

YS-53S8-1T  Titanium Nitride Coated Shock Shaft (SSS)
YS-538-4T  Titanium Nitride Coated Shock Shaft (SSS)

YS-6W Shock Plastic Parts
YS-7-1 Shock Maintenance Kit
YS-7S O-Ring (Soft)

SHOCK SPRING

YS-1360 Shock Spring Black (Soft)
YS-1465 Shock Spring White ( | )
YS-1355 Shock Spring Blue ( { )
YS-1460 Shock Spring Yellow ( { )
YS-14575 Shock Spring Pink ( { )
YS-14525 Shock Spring Stainless ( | )
YS-1455 Shock Spring Green ( | )
YS-1450 Shock Spring Orange (Hard)
WHEEL

TW-1012-2  Super Precision Wheel (24mm)
BODY

ZR-YSBE Dodge Stratus Type-E Body

RS-26 Honda Accord Body
SD-GW3 Touring Car Wing Set 3.1 (190mm Width)
ZR-GWS Touring Car Wing 2 Side Dams

Hard Coated Precision Pinion Gear 48 Pitch 30T

\V]

\V]

nna

\CRE VAN \CRR VRN \VRE VR \VRE V) H== b

)

$TBA
$TBA

$5.00

$7.00

$TBA
$1.00
$TBA
$12.00
$TBA
$11.75
$10.75
$26.00

$4.00
$2.50
$TBA
$13.75
$11.50
$21.25
$1.75
$12.00
$11.75
$3.00
$3.00
$11.00
$4.25
$11.75
$10.75
$26.00

$4.50

$30.00
$31.00

$9.75
$10.00
$1.25
$10.75
$3.00
$2.00
$5.00
$20.00

$1.50
$4.75
$2.00

$5.25
$5.25
$5.25
$5.25
$5.25
$5.25
$5.25
$5.25

$8.00

$21.95
$21.95
$TBA
$6.50

* 000000

[ e b 2K JX 20 3K 2N 20 b 2 20 2b 2f 2 O J

* 00000 *Oe

%t @ ¢ Dt %

OTHER
BD-TSS Titanium Screw Set (93 pieces)
Super Precision Bearing Set
BD-88P (Drivetrain Only 14 pieces)
Ceramic Bearing Set
BD-BBC (Drivetrain Only 14 pieces)
SD-HDG Ride Height & Droop Gauge
YT-300 Cross Wrench
KLD-W Turnbuckle Wrench (For Titanium Turnbuckles)
CS-SDL Stealth Diff Lube (For Diff Balls)
CS-SBG Black Grease (For Thrust Balls)
YS-450 Shock Qil (#450)
@® = Standard % = Option
M = Medium

H.D. = Heavy Duty
L.F. = Low Friction

$TBA *
$TBA *

$TBA

*

$7.00
$2.00
$3.50
$2.50
$2.50
$5.00

000 0 x

TBA = To Be Announced (check our website for updated pricing information)

2005.03.22

Manufacturer's Suggested Retail Prices listed. Contact your local Yokomo retailer for current prices.



2006-05 . @
{800-08 >
$00£-09 ®
¥3H00¢-08 =
8AYIN-07 —_ 0901-88 §00-05
T3110-S7 — Hg00-08
S5 g, — 5006-05
02-07 ———8955-01 q
S00E-08 G 0—— —pip-0
:_._82:_/ ~ e HYELP-S
8006-0S ~® 5301005
{800-05 "\ & o A71y-S7
/ < g~ —
96@ ww mv
e 2= yg00-05  £281-02
w0t — " “@p, T 8985-01
600-05 —_———— @ T §00-05
13110-§7 \\\\\\H@W@\ dlg s
090(-88 ~ o B —— 090188
800-05 -— \\\...f i - SH010-§7
3dAL IHEIH W0 WA Y
4400803 190307

o
y100-0s ~

‘585888l 10Npo.d U808l 1S0W Ul 10}
WO BSNOWDXYOA MMM 1E BLISOIM N0 1ISIA

*9O0Y INOYNM S8UBUD 01 109[ans suoneyioads 1)

223

WVdOVIAQ M3JIA A3A01dX3

asg OL1LP-din

J3%1434

400€-04

118 8ALIp 1U0I4
}|aq dA1dp Jedy

1918-08-—
1681-09

9€81-97
L10Z-31

JN0DE-09

Adhl LHII3H H0T R3HD

® 04300608

¥ s
e g9
mm B %
g
N 010-52
T 100-08
T 910-82
\ﬁ_g-a
520004 R
Ho1-08 o - ———100-t8
IR0 T sy T 9102
_ ,,,Affm e
— J..\\ -
- @ /
/ Sy /

-~ 7-489-94

2 ——15902-97

& — W90Z-92

C.uwmﬁ e dO¥8-89
T
9841-97 ___\

10¢-22Z

1400E-09
4400¢-04

¥200£-09 —__

——

W _—89008-09 5
S _-¥300¢-09 A8
— ® .
i ....._..”u...... / m . T~
v e 7 T~ Bi10-08
- 5810-08 \ ~ ///mogm-nm
- x\ / 80¢-32
s 9¢81-01 | — 102-97
£02-91
. 810-82
\\mm_m-z
2¥4-08 AT 4 \
/7 4106-08 ) \
SRR 910-57 e p9-sh— 1
_ $0015-02 SE15-04 G1-§
@ 2 j0s-s1 I
£05-57 0¥4-04
/. 0151-49 60-S4
§\ P 17%9-57 90-5Y =
117909
g 9-3357-5p——
I-1-Sk——8
_ 119-08" A / wm-m,\\ﬁ.\.\m
£05-09 — 8187-95 @o@@ = @?@ 9-8559-Sk-
905-$7 - O 0%$-07 - £79-04
: _t@ _g-g\\q__ \ :;-ﬁ_m\ V4 ®®@ W
/ pp9-08 | 1Zve-sz )
¥106-0S / / 078-49 ,,,_ ol51-99°  / m
50018-92° v4-08 9v4-09 08-Sk ®
0151-99 =
v8-08 \

Ve

9-388%-54A

B )-1-5)
}-5555-S4

6\)3

T

|-5856-SA

I-£-8A

/




